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D c B A Questions / =y &7
B-A ¢ B A :‘¢.Im/.!/.A—B?nA§B/‘7 1
If Ac B,then A —B isequal to:
{4} 4, @) ¢ {a} - Ereralferde) 2
Power set of any empty set is:
- 3
s . X +1
&Jay‘ JU /..)J}/! /_f?.b ; “-_"gm 3
Constant term Identity Improper fraction| Proper fraction (x‘—xl)(-;—]-f-Z)_ is a/an:
a-b_x-y| atb_x+y a_x a_b i:"i’j e udnab=x:y/l| 4
X y b y by k¥ Ifa: b; a,,x:y, then alternando property is:
E:‘l a+b=x+y a - X _a_=£ 1 Q‘_J‘ffj‘na b= =X: yf 5
a x b y a-b x-y Xy Ifa:b=Xx: &I then invertendo property is:
&
11 ey Lo + 62
a+p (a+B)2-2a[3 a—2+’3—2 az_Bz R B 6
3 - 1 0 , c_u/g}‘b(wg'/»d:dﬂ 7
Product of cube roots of unity is: :
E :L«:’Ju//u: ax? +bx+c=0 ableieBon| 8
4 3 2 1 The number of terms in a standard quadratic
equation ax2 4+ bx +¢ =0 is:
S HEEE T e B Lo | 9
1 4 3 2 How many tangents can be drawn from a point
outside the circle?
e b IS KR IPE e 80° 38 K| 10
60° 40 20° 80° An arc subtends a central angle of 40° then the
corresponding chord will subtend a central angle of:
sine ¥ 71y tangent Ko /) cosine K« 71y secant ¥z /1; u‘qf runJ (s l/é:é./bﬁu; bug 11
. . . A line which has two points in common with a
Sine of a circle | Tangent of a circle | Cosine of a circle | Secant of a circle circle is called:
yord A e B &;T;,},u’ifr H:{94 b/&g/’bu"..g 12
Double of the Halfofany |Radii of a circle are:
All equal All unequal diameter chord
5 1 1 1 5
0. o — —=Co0sec45° = 13
2 Ve %) 7 2
£ BE ey ] et & S boldlo| 14
Place Origin Ratio Value Mean is affected by change in:
= ¢/l ek £ b LS widle| 15
Value Rate Scale Place Mean is affected by change in;
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Write short answers to any SIX parts.

1011-x123
FBD-123
Hehr L g e §f
_Qrtéuﬂ.)éi./d’fabl/&uu t))

Write the names of the methods used to solve quadratic equation,

- 1 1 1 1 » 3 -
Write in standard form:; SE T 3 %ad Tt ria 3 .éufg)(’d/?fqbv (ii)
Solve:  x%+2x-2=0 2+2x-2=0  :ZF i)

3x2+7x~11=0 :{(ﬁl’”u/gf‘bu',n‘{{u%/ﬂéwfuM/(f;»' (iv)
Without solving, find the sum and the product of the roots of the quadratic equation: 3324 7x—[1=0
~ Find o? xfm=%. -gf.:r}"‘ mz;‘nco=:HT S 4w

-G PO 628k +320bleBn (Vi)
St i)

AT=6 LEA*RIT=3 _2R=8Rec T2/ (viii)

Find the discriminant of the quadratic equation 6x2-8x+3=0.
Define proportion.
If Rc T2 and R =8 when T=3,find R when T=6

Find the fourth proportional to 5, 8, 15 -4{(3"1‘/[}'{3)’( 5,8,15 - (ix)

-Juw/"l,i?wc,éf
ER o
EYINNAPAN B0
- S i)

-"’J:F’L‘” AxA 4 AxBB={-1 3} ,A={0,2, 4 J ()
If A={0, 2, 4} and B={~1, 3}, then find AxB and AxA .

Write short answers to any SIX parts.

Define rational fraction.

»

+

—
N

Express in the form of partial fractions: 3

>
=
>
+

Define binary relation.

STl W)

AL S8 (i)

AR 4

82, 93, 86, 92, 79 ZEMbakUn At (viii)

Define intersection of two sets.
Write De-Morgan's Laws.

Define cumulative frequency.

(vii)
Find the median for the marks: 82, 93, 86, 92, 79

Find arithmetic mean using direct method: gi:r)h" J:/Jl(_él?c._.“'g )’Jp/b’l, (ix)
X 1 2 3 4 5
f 3 8 5 3 1

Write short answers to any SIX parts.

Eer P g e 8
e = 2" [0)
' rr=15mm. 6 = 60°30 ,,G.“é,»,h@gJ ¢ G
L5 Y +sin6 = cosech (g (i)
E iSRS ()
Efles )

2
Convert Tn into degree.

Find £, when 6 =60°30", r=15mm

0
cos” ~———+5in 6 = cosech cos®

Verify that:
erifythe “sin@ sin®

Define radian measure of an angle.
-

//

Define zero dimension.
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<3

-4




04

04

04

04

04

04

04

04

Define tangent to a circle.

Define circumference of a circle.

FRD~/~229
~E vl e (v

-é’-éf/jp(lzf[,@//b (vii)

The length of the side of a regular pentagon is Scm. What is its perimeter? e tf,l:wﬁﬂ = ijUJ@LJLJ‘;VVQ (viii)

Define perimeter,

S (i)

609 A 2 08 Ly & Fetinl v fe b cpd g duan

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation using quadratic formula:

Prove that: x*+ yd = (X +y)X +oy)(x + Q}zy)

(x-2)° - (x—4)
(x =27+ (x—4)*

Solve:

ot |
wlw

9

Resolve into partial fractions: mﬁ

é.{fc, U}"/‘JJ./};:J/;; Il (L3

x3+y3=(x+y)(_’x+c9y)(x+0)3y) et (L)

(x=2F-(x-4" 12

e e (L)
(-2 +(x-4 13 &J

9 EW 7 ()

(x—-1)(x+27

(B-A)=BUA fégf,-’f}’B={l,4,7,10}:A={1,3,5,7,9}‘U={],2,3,4, ..... L1031 (L)
U= {123,400, 101, A= {1,3,5,7,95, B= {1, 4,7, 10} then verify that (B~A) = B'UA
:g{(k’d[%’d/&v Lieeid

Find the standard deviation: 12,6.,7,3,15,10,18.5

~§_{r)b/¢gd/u"@&gfdgpﬁ secO > 0yl cosech = —]1%/7 ()
If cosech = % and secO > 0, find the remaining trigonometric functions.
%4 &,JJ éfcéu'i,éé;.wm/w ABC &8 Wil (L)

Circumscribe a circle about an equilateral triangle ABC with each side of length 4cm.

. Ust o 3155 Vc}r/a:?u,vzd’l}"}::).f_@f' bJ1S g{ =k
Prove that if two chords of a circle are con gruent then they will be equidistant from the center.
--OR -- .

Ly UnCisis B F Lne_sifZE ek

Prove that any two angles in the same segment of a circle are equal.
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D C B A Questions | e - ed
e bl AL s e QUdb Tz mbie ortatrs” | 1
. . The most frequently occurring observation in a data
Mode Mean Harmonic mean Median set is called:
i ek > i et Kfe b Lo X AT 2
. Sum of deviations of the variable X from its mean is
Different Same Zero One always:
30° 135° 150° 115° %radians = 3
13 & Jl P I;.t‘llf};lﬂ:i,zfc?}ﬁz_ﬂ) 4
. . . A chord passing through the center of a circle is
Secant Circumference Radius Diameter called:
tangent ¥ 7» | sccant 6 b | cosine b /b sine 6 71 I‘L.t‘Ur,v( rﬂd/?',&'i;ugd/j Wl L S kl| 5
Tangent of a Secant of a Cosine of a . . A line which has only one point in common with a
circle circle circle Sine of acircle | gircle s called:
o e Fly e blugsl 6 60° 4P oadL 4kl 6
! 2 . = A 4cm long chord subtends a central angle of 60°.
The radial segment of this circle is:
ki3 n o e b P uid| 7
6 2 4 Angle inscribed in a semi-circle is:
_ 1“4—)'»".0!0)‘5(}: ax? +bx+c =0abl eS| 8
4 3 - 1 The number of terms in 2 standard quadratic equation
- ax? +bx+c=0is:
PR e s
3 - 1 0o e sl §0) 9
Sum of cube roots of unity is:
1 1 . 2,2
] g B — e ot +B
o -2a a®— a+p 7 10
et P P a2 B a2 + g2 is equal to:
yZ___xz y2=kx3 y2=_k__ y2=L yzcc-l_ . - yzx_l_)ﬁ’ 11
D N If x3 then: oy ]
s 12 4 3 _ i{;r}”xuf-'4:x::5:15..,/b7 12
4 3 4 Find x in proportion 4 : x: : 5.1 15
3
T o & . x° +1
e by Al Aaid el paim| &
3
Constant term Identity Proper fraction |Improper fraction (_x-—xl—)(j-)_(l-r_Z)- is a/an:
e ar e el e b6 | 14
Super set Singleton set Subset Empty set A set with no element is called:
JEIE AXB I 40 B ol 3LISUEILEA S| 15
7 12 4 3

If number of elements in set A is 3 and :‘cd‘mu;’gf

in set B is 4. The number of elements in A xB is:
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Write short answers to any SIX parts, '-dagbz/?-“é'l?.gc_df
Solveby factorization: 4 32x =17x2 4-32x =17x2 :“éd’df,;lu} (i)
Solve the equation: 5,(% - 7,(74L -2 5xJ2‘ = 7x£ -2 ' fa byl e (ii)
Write in standard form: o _:_4 + ﬁ =3 ’ $+ _x%z =3 &F‘j‘ﬁd/gu (iii)
Find the nature of the roots of the equation: 3x2+ 7 -13=0 X2+ 73( -13=0 :éf:"’fﬂl&ft’uigbb‘ (iv)
Write the quadratic equation having roots: —1, —7 =L, -7 2 c.!;l/d/mdbujué_né) v)
Evaluate: w3117 o34 17 :5{(,1’*@ (vi)
If 3(4x — 5y) = 25 — 7y then ﬁndﬂthe ratiox : y -5‘,3_'/,':1;” X:yeady 3(4x-5y) = 2x — Ty y (vii)
Find fourth proportional to: p3 *+ q3 3 p2 -q2 > P2 -pq +q2 p3 +q3 . p2 —qz 3 p2 -pq +q2 :éfﬁ‘gl’}lﬁg (viii)
Define direct variation. - e F (ix)
Write short answers to any SIX parts. -&”a&&f*&d}:&g;é/
Define proper fraction. -g’f:/ &-é//.{{/:.-‘}.” @)
Resolve the fraction L_)EZ:L—I- into proper fraction. . -é J._ A /..,el;f xl- x22 S (i)

X°+5 X“+5

IFX={I,’4,7,9}andY={2,4,5,9}thenﬁnd XNy -g:’r}vxﬂY?nY={2,4,5,9}mx={1,4,7,9}/7 (iii)

IfA=NandB=W, then find the valueof B—A . -épl"‘..‘;fJB—A Y B=W A=N/'7 (iv)

X=¢, v=2* then find XUy - XUY JY=zt . X=g ®

IfA={a,b}andB={c,d},thenﬂnd BxA -gfi/r)b”BxA 9B={c,d} JJ'A={a,b}ﬁv (vi)

Find arithmetic mean by direct method for the set of data: e p""b)f(}b(ﬂ:’a& bty (vii)
200 , 225 , 350 , 375 » 270 | 320 s 290

Define range. ] -5’5.31/‘7&:«” (viii)

The sugar contents for a random sample of ¢ packs of juices of a certain brand are found to be 23,27,25,29,3]
and 1.9. Find the median,

EPU e 19931 29059, 23 LUSIBSEE S L L s £, (ix)

Write short answers to any SIX parts, -4@&&#5;’7.’{:.&/
Convert % into degree, -_'é/ J__‘iu.’.’df;‘f % (®
Findr, when £=4cm , ¢ =%radians ) £=4cm, 0= % efhs .ﬁ_'é/p"" ro (i)
Define radian. -Euts G
Verify the identities: (I~ sin 8)(1 +5in 0) = cos2 § (1-sin 6)(1 +sin 6) = cos?9 _é/ e Y (iv)
Define acute angle. -‘_é’qf.{[:ﬂ)ub w)
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Define length of a tangent. o YAl 4 LJJu‘ W (v
Define circumference of a circle. _4’5 ¥ fJJx_—fLoﬂ: (vii)
Define circumscribed circle. _ZE sl (vii)
Construct a circle of radius 2cm. -é.b.u’bl(f 20 (%)

69 A 08 L g felplotrdad s

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation:  2X+5=7x+16 2x+5=ATx+16 & fizbl (D)

Prove that: %> —y® = (X— Y)(X — 0y)(X — &) X3 - y3 = (X = y)(X - 0y)(x - 0%Y) et ()
Find x in the proportion: 8—x:11-x::16-x:25-x ggp"’:.d’:J X Ser B (D
. . ; Tx+4 7x+4 7 s )
t L _— S 7 N
Resolve into partial fractions Grr 7 Gra LI g{ Jy S

(AUBY=A'NB' (it B= (14,710} < A= {1,3,5,7,9} U= {1,2, 3,4, o, 10141 (D)
IfU={1,2,3,4, ., 10}, A={1,3,5,7,9}, B= {1, 4,7, 10} then verify that (AUBY=A'NB
e F it gl Pe LRI 6 ()

The marks of 6 students in Mathematics are as follow. Determine variance.

O 2 3 4 5 6
Students
it 60 70 30 90 80 )
Marks
Prove thatt (cot 8+ cosecO)(tan 0 —sin 6) = secH —cos O S el ()

_URE A I3 6 < AEHS CA L BC (AB LWl LBz twsn 88 ABC &b (&)
Circumscribe a circle about a triangle ABC with sides | AB | = 6cm . |BC|=3cm> |CA|=4cm
_‘4m%}f:u?vgdﬂ:lvgdfabﬁf/fﬁfé:f.E"
Prove that one and only one circle can pass through three non-collinear points.
-~ OR -~ o o

sl tUﬂg’:u:uf'lJJgLﬁugﬁdr;lJfgf_::/.k‘

Prove that any two angles in the same segment of a circle are equal.

1012-X123-68000

=3

-6

<7

-8

-9




